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Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
“woTe faTas et bex fan

(d) The word ‘scarce’ is closely associated
with the word limited’.
(Write True or False)
Tpd’ R oo TS’ b A%
o SR |
(311 A =P forn )

20A/369 ( Turn. Qver )



(b)

(c)

(d)

RG]

(2)

State the law of diminishing marginal
utility. -

mmm%ﬁmmm|

The Engel curve for a Giffen good is

( negatively sloped/positively
sloped/vertical/horizontal )
( Fill in the blank )

ﬁmwm&%m_
(9IF | ETIF [ Torg [ i )
( 19 3 *& F)

What is income effect?

oy Reie W1 752

The fall in the quantity demanded of the

. commodity, when its price falls is called

20A/369

paradox. , . :
L (Fill in the blank )
T3 GRR W 2P 20 SRAE AR R R
SO ___ ied I @RI | |
' (R 3 @)

' Give the meaning of market-demand -

schedule.

wwmmﬁawm.

( Continued )

2.

20A/369

(3)

(g) What is expansion path?
SreepTact A 7 2
(h) Total cost is the sum of total fixed cost
plus total variable cost.
( Write True or False)
P R W AF P RS T cawrfcai
TRP A
(571 A oFTes ol )
() What is the shape of the average
revenue curve under . perfectly
competitive market?
offf zrfmmw TS G S, M TS
CFEFA1?
() What is margfnal rate of substitution?
o1fe afeeER 79 WA 2 '
Answer the following questions : 2x5=10
S epCARY T fordt
" {a) What are stable: and unstable
equilibriums? '
 3fEq o W ST R 2
( Turn Over )



(b)

(o)

(d)

(4)

Mention any two measures through
which government intervenes in the
market. :

W WCHFN AT W AW TR e
7Y 32T w0

State any two assumptions of"

indifference curve analysis.

e 1 Remes R e 11 Aer Bran o

What is the basic difference between
utility approach and the indifference
curve approach to consumer demand
theory?

SoereR SR crae el Reye

1% fgeers @9 ReETR w0 931 84 12

(e)

3. Answer any four of the following questions :
| 5x4=20

R

‘What is producuon-functxon?

Seot o 5 7

O R I 5iRE! o T A

(a) Describe the concept of opportunity cost

20A/369

with examples.

TR TR o)~ 4RECHT 36T 41 |

( Continued )

(b)

()

(d)

(e)

20A/369

(5)

“A higher indifference curve gives higher
level of satisfaction.” Explain with the
help of a diagram.
“qoreT B FReors @iy O v e e 1
o s7=rer I 40 |

Distinguish between fixed cost and
variable cost.

33 I O RSN T TEd N & |

Draw a long-run average cost ¢urve and
explain its nature.

RGP oG-I (¥41 O IR ©R oS I
¥

Briefly state the different fypes of
returns to scale.

RRw orrea aﬁwsv=mma'ﬁvm wE S
I

What does the law of variable proportion
indicate? Discuss in brief.

JReGe et a¢vrazav'wg¢
el 41 |

( Turn Over)



4. Answer the following questions :

(6)

10x4=40

o SRIERA Ted

(a) Explain how scarcity and choice lead to

(b)

20A/369

economic problems. 10

AR W R R e iR iR
I, TOL 90

Or / 9=41
What is equilibrium? Describe static,
comparative static and dynamic
equilibrium. 1+(3+3+3)=10

ST wE WA 7 RN, e
&Mt e (Mo ST g 361 <+ |

Explain the concept of consumer’s

._surplus with the help of card.lnal utlhty
" “approach. 10

el Tges RS SRS %"Wﬂﬁ"l
Resrse sgwe o 311

Or / 911

Describe consumer’s equilibrium with
the help of indifference curve.: 10

s @R TS TSER SRSl 3o
I

( Continued )

(c)

(d)

20A—5000/369

(7))

Explain how least cost combination of
inputs is attained with the help of
isoquants and isocost lines. 10

TG @ WF TR @ e R
T TR WS SR IRI [ T,
TR |

Or / J{1

Describe the economies and

diseconomies of large-scale production.
5+5=10

TRAGR B Rreafier o SREIROPRR
I

Explain the relationship between
average revenue, marginal revenue and
price-elasticity of demand. 10

TS O, AT SF = TR 1-RfegrFer
SR 3= E 0 541 |

Or / 5’[1

Explain how profit is maximized with
the help of revenue and cost analysis. 10,

o GF [/ Rorw T e [ wEw
A, M I
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The figures in the margin indicate full marks

Jor the questions
1. Answer the following as directed : 1x10=10
So7e fraaRa ot e fim :
-"(a) Define averagé propénsity: to consume
(APC). '
1% Borgere AR TR fd |

(b) Define gross domestic prodixct, '
TS TR Beoa K fan o

20A/370 ( Tum Over)



(@

(d)

(e)

20A/370

(2)

Mention one method of measuring
national income.

<@ R A BT TS S |

What is effective demand?-

- wferm widm &2

From left to right aggregate demand
curve is upward  sloping/downward
sloping.

( Choose the correct answer )

| PR o Gl gy oRE R

@oRle ©f8 @Ry / wata i = |
(om ewhl MR Bfeear )

- Keynesian equilibrium is a full employ-

ment/underemployment equilibrium.

( Choose the corréct answer )

@ oremwel  of e / SN

SIRATS |
| ( % Teach AR Bferear )

( Continued )

(9

(h)

(3)

Define autonomous investment.

yage ffFaneR et far ) -

Marglnal propensity to consume cannot
be greater than one.
( State True or False )

2R (Sl RSl LT TIET 'Y CTRIA |

(S g e )
() What is an accelerator? S '
= 2 |
(i) - Define marginal efficiency of capital.
T 2R SR e i | |
2. Answer the following questions :
Gﬁ?ﬁﬁ?ﬂ?iﬁﬁaﬁ*ﬂ:;; |
- (@) Whgt are the basic economic ,,ac,t,ivities?
T weAfes IR R 6 2
() How does Gross National Product differ
from Net National Product?’
&% B BT R I G e R
42T ?
20A/370 . ( Tum,Over)
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t4)

(¢ Mention the determinants of aggregate
demand function.

gD R TR AR SeE 1

(d) Mention two  factors  affecting
consumption function.

o o e 51 B B 2 |
(e) What is investment?
Rt &2
8. Answer any four from the following
questions : . 5x4=20
. &R AR R @ sifir Teg fora

" (@) Explain the circular flow of income in a
two-sector economy.

”ﬁw@w@%amwmmw
]

(b) Explain the main components of
national income.

TE Wi it SonenTR I 4 |

20A/370 ( Continued )

(c)

(d)

(e)

20A/370

What were the Keynes’ objections to
classical theory? Explain bnefly

Wﬁ@waﬁmmﬂm{iﬁwﬁm
TRE I AN |

Explain the relationship between
marginal propensity to consume (MPC)
and multiplier.

ARE Togerl AT WEF IR AHS ¥
T T 0

Explain the relationship- between
marginal efficiency of capltal and
marginal efficiency of investment.

TieE o e o REe AR

| PSR AEI ToRECHT I FA!

Explain vbrieﬂy the .conéept of super-
multiplier.

RS8R R T T |

( Tarm'Qver )



(6)

4. Answer any four of the following questions :
10x4=40

(a)

(b)

Z

(d

Wﬁmmﬁ%ﬁw%—«n

Dlscuss the rela'uonshlp between
national income and economic welfare.
What are the importances of measuring

national income? Explain. - 5+5=10

IWWWWWW@WW@

wrmww@amﬂwmﬁsﬁw

R F 9

Discuss the simple Keynesian model of

income determination.. 4 10
oy R e P SfRCE e 1 |
Discuss the classxcal theory of
employment. 10
TRz AgiPre SgC Seame 4T |
Discuss critically th; Keynesian
consumption function. 10
P Co19t FABT FCEACAIFOIE AT
91

( Continued )

20A/370 -

(7))

(e) Explain the relationship between
marginal efficiency of capital (MEC) and
investment. What are the determinants
of MEC? Explain. 4+6=10

e Afe el W R T
FoRbhl WA | TR AT IEfrEeR

ez B R o I w4

() Critically discuss the accelerator theory. 10

T OO ANCAGAIFSICE AT 47 |

% %k
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